[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

...............................

e

1.0

Ratio

o
©
a

e
i
+
4
H
i
i
+
i

4.4

=
o

[N}

107 1

10 0
TP vertr (cr%)

2

—=— DQM_TT__mkFit-DQM_old132

Efficiend —— pQM_TT__mkFit-DQM_new132

~0.05

Y1 SR ST SERTREIs ¥ (SRR SR
» o .
20.04F -t e L
> :
Y0l RCRRE SOTSPRE NSRS SRR S S
g : :
=IY /- SRRE SRN I WSNRE 1 (R S
[J] = .
10715 SERR SOTE R TGS § S MR
002;— --------------------------------
S SO U SRR SR | N
951 S S S 11 -
0.005f -+ cfeseseeiene - ‘}hH S RS
SV PP S DO W L LN | 1 A
£ :
e [
1_— """""""""""""""""
0ok : : i | :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05
>
£0.045
£
=0.04
9.035
>

20.03
o

3]
0.02
0.015
0.01
0.005

......................................

........................................

.....................................

Ratio

J__Uouluuu

2,025+

20 2 4%

g8 10

Sim. PV z (cm)




	Contents
	Page 1


